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The path of a marble in a child’s game can be represented by the graph in the Cartesian
plane below. Initially, the marble is at a height of 7 dm from the ground.

Height 4 (D
(dm)

7 if 0=sx<1
344 if l<sx=<4
f@)=1a|x—5|+8 if 4<x<7
2Nx-7+k if 7sx=<11
S5x+b fll<sx=<t

Determine the duration t of the marble’s path. —

PYPT

@ Aaron is playing an electronic game. The height of a Helg
flashing dot on the screen can be modeled by a square e
root function f from 0 to 4 seconds and by an absolute
value function g from 4 to 12 seconds as indicated by
the graph on the right.

The starting point of the flashing dot is the vertex of
the function f.

Determine at what times the flashing dot is at a height
of 1.5 em.
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e’
Review of Functions Unit g

@. Which function is represented by the graph?

—x-3, ifx<0

L%x+l, ifx>0

[ x-3, ifx<0

—lx+l. ifx>0

.

-x+3, ifx<0

C. f(x)= 1

—x+1, ifx>0
2

x+3, ifx<0

p. f(x)=

—lx+1, ifx>0
2
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